## Subtracting from a whole

Shade the outcomes and complete the subtraction sentences

$$\boxed{1} - \boxed{\frac{1}{6}} = \boxed{\frac{5}{6}}$$

## Subtracting from a whole

Shade the outcomes and complete the subtraction sentences

$$\boxed{1} - \boxed{\frac{1}{6}} = \boxed{\frac{5}{6}}$$

$$\boxed{1} - \boxed{\frac{5}{9}} = \boxed{\frac{4}{9}}$$

$$\boxed{1} - \boxed{\frac{3}{7}} = \boxed{\frac{4}{7}}$$

$$\boxed{1} - \boxed{\frac{2}{6}} = \boxed{\frac{4}{6}}$$

$$\boxed{1} - \boxed{\frac{2}{4}} = \boxed{\frac{2}{4}}$$

$$\boxed{1} - \boxed{\frac{1}{4}} = \boxed{\frac{3}{4}}$$

$$\boxed{1} - \boxed{\frac{3}{5}} = \boxed{\frac{2}{5}}$$